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Quant Mega Quiz for SSC CHSL (Solutions)

$1. Ans.(c)

Sol.

Muslim + Hindu + Sikh= 44 + 28+ 10=82%
Remaining = 100 - 82= 18%

Remaining Students

18
= B850 X —
100

=17 =9
=153

$2. Ans.(c)
Sol.

Sum

11
Sumg + 18+ 20=11x

Sumg + 38 =11x
Sumsg = 11x - 38 years 6 Months Subscription

Sumyy
= x + 2 month

11
Sumsg + 2 new player = 11x +22 SS c c G L

11x - 38 years + 2 news player= 11x + 22 months

Sum of ages of 2 new player= 38 years 22 months TIER-" MAHA PABK

Average of 2 new players= 19 years 11 months

=X

Test Series, Live Classes,

S3. Ans.(a) Video Course, Ebooks
Sol.
Let there are x no. of coins of each type Bilingual (With e-Books)
100x + 50x + 25x = 3500
175x = 3500
_ 3500
175
= 20 coins
S$4. Ans.(a)
Sol.
Alcohol : Water
Vessel I 25 75
1 : 3
1 1
Aleohol = 2 x — = =
&4 2
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3 3
Water =2 X — =
4

2
Alcohol : Water
Wessel IT 40 : 60
2 : 3
2 12
Alcochol =6 x—=—
5 5
3 18

Water=6x—-—=—
5

In 10 litres
12 _ 54 24 _ 29

Alcohol =—+ — =—
coho +5 10 10

Wat _3+18+2_2+15+36_51+2D_?1
TRt AT 10 10 10
Concentration of Alcohol= % * 100=29%

10

$5. Ans.(a)
Sol.
1 1 xz—ﬁ
x: =
2443 2443 2-43

=2-13

11 2+43

YT 3 23 2443

=2+13

Bxy(x* +y°)=8(2-V3)(2+V3) [4 +3 - 4/3+4+3 +4/3]
=8 (4-3)(14)

=112

$6. Ans.(a)

Sol.

C.P of 5 kg Butter = 300
S.P of 4 kg Butter = 300 x %: 270 Rs.

Price/kg = —= 67.5 Rs.

S$7. Ans.(b)
Sol.

Strength of women = 311250 X gz 161250
Literate women = 161250 X %z 38700
Strength of men = 311250 X gz 150000

Literate man = 150000 X %= 135000
Total literate = 135000 + 38700= 173700 Rs
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$8. Ans.(c)

Sol.
PX10XT
400=P+———
100
_ T :
200=P(1+) ()
PX4XT
200=P+— 8 —
100
200 = F(l + T)
B 25

400 F'(l +1T—D)

2+ 2T 14 T
25 10
T 2T
10 25
_ ST —4T
50
T = 50 years
S9. Ans.(d)
Sol.
Rate = 1004
10 1
100 10

Time = 3 years
Let principle be = (10)*= 1000

5. Interest for 3 years = $= 300

C.Ifor 1 year = % =100

C.I for 25 year ===+ —= 100 + 10= 110
Clfor3dyear =0 + 22 190 _ 191 4+10=121

10 10 10
Total C.I for 3 years =100+ 110+ 121=331

Difference = 331 - 300= 31
31r= 15.50

ir = 0.5

Sum = 1000 = 0.5 = 500 Rs.

$10. Ans.(a)
Sol.
They will cross in
_ 190 + 210
40432
400
5

?EXE

= 20 seconds

TEST SERIES
Bilingual

59 Total Tests | eBooks
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S$11. Ans.(a)

Sol.
1042 A 1042
20 20
102 B C
20 20
D
1042

The length of rope of goat = 10v/2 m
Then the two goats will graze an area

= Area of a semicircle with radius 10v/2 m.

2
So total area grazed = % = 1001 m?

$12. Ans.(a)
Sol.

Let, the radius of circular paper sheet be r cm.

Then, 2 mr=352
Or, r=56cm

Radius of each circular plate= ‘%ﬁ =28
Hence, circumference of each circular plate
= 2X = x 28=176 cm

$13. Ans.(b)
Sol.
A

BUD

Let the side of equilateral triangle = a

V3a
Then height = —
1 \Ea a
Diameter of innercircle = 2 (- x — | = —
3 2 V3
2 \Ea 2a
Diameter of outercircle =2 - X — | = —
2 NE]
Rati a 2a +3a
atio=—:—:——
V3 V3 2
= Ratio = 2:4:3
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S14. Ans.(a)
Sol. We know that the circumcentre of a right angled triangle is the midpoint of its hypotenuse and the
circumradius is half of the hypotenuse.
Let ABC be the given triangle with right angle at B. Let O be the mid point of the hypotenuse AC. Let BD be
the perpendicular from B on AC. Then,
AC=2(0A)=2x5=10cm.

A

B C
BD = 4 cm [Given)

1
~ Area of AABC = E * AC =% BD

1
=E>-<1D><4=2{}cmz

Hence, options (a) is true.

$15. Ans.(a)
Sol.

Let r be the radius of the circle. Then Circumference
=44 cm

= 2nr = 44 cm

22
:&ur,EK?Xr=44cm

44 % 7
44
. _ 2z {22 z _ z
~ Area of circle = ir= = (? X T x ?) cm- = 154 cm*®.

LT = cm = 7 cm.

$16. Ans.(a)
Sol.

Let the radius of inner circle be ry

TEST SERIES ‘
0 Bilingual '
. SSCCGL 2019-20

2, = 704 PRIME

_ 704 704 X7

Ar=—-= =112 m.

T on T 2x22 m 400+ TOTAL TESTS
Let the radius of outer circle = ry
try=r;4+7=112+7=119m.

- Area of the path = wr3 — mr}

Validity : 12 Months
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=n(r —ri)=nlr; +r)(r; — 1) (Remember)

22
=—X (119 + 112)(119 — 112)

22

=—x231%x7
7

= 5082 m°>

$17. Ans.(d)

Sol.
14 m 14 m

P

14 m

h 4

—100m———
Area of each quadrant of radius 14 m

1 2 1 2
=—mre-=—xXmTx 14
4 4

=~ Area of 4 quadrants = w x 14°

14 m

22 ,
=—X14x 14 =616m’

Area of Square Park having side 100 m long
= 100 X 100 m* = 10,000 m*

~ Area of the remaining part of the park

= 10,000 — 616 = 9384 m*

Hence, option (d) is true.

$18. Ans.(c)
Sol.

B H G C
Side of the regular hexagon

1
=—¥b6=2cm.
3

3V3

- Area of the hexagon = = a

33
=T><2><2=6\Esq.cm.
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$19. Ans.(c)

Sol.

Side of the square = V121 = 11 em

~ Length of the wire=4 X side =4 x 11
=44 cm

Now the wire is bent into the form of a circle. E N G L I S H

If the radius of the circle be  cm, then, BY

o 2mr = 44 NEETU SINGH
44 44 =7

T onToxazz 12" May

~ Area of the circle = mr

22
=?>-<?>C?=154cm2

$20. Ans.(c)
Sol.

60° ' 60°

B C
Each angle of the triangle = 60°

Required area of the three sectors

$21. Ans.(b)

Sol. The wall clocks gains 6 min in 36 hours, while table watch loses 2 min. in 36 hour.
~ difference of 8 min ing days

. difference of 12 hours is in = g X é X 12 X 60 = 135 day

S$22. Ans.(d)
Sol.

Ratio of profit=5:2
A’s share= 3 x4

x 27x
5 35
4x Bx

2
B'sshare=-x —=—
7 5 35
19x

Diff. = Pr 38000

x = 70000
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$23. Ans.(d)
Sol.

B’s 3 days work = 11 =
Remainingwork=1—--= E

3 3

| LA | e

Time taken by A in finishing the remaining work = 35 X i = 28 days

S$24. Ans.(c)
Sol.

W | b

Part of tank filled by both pipesin 1 hour = i +

o |

Time taken to fiu§ parts = 60 min
Time taken to fiu; part = ‘“'2—” X §
=45 min.

So, tank will be filled at 11 : 45 am

$25. Ans.(a)
Sol.

Time taken by pipe B = 2x hours
Time taken by pipe A = x hours

Time taken by pipeC= ﬁ = Z—x hours

X X
1 1 3 1 3
T T T e T 0
[-]4]
Ox20=4xx3

¥ = 15hours

$26. Ans.(d)
Sol.

100

Time taken by B in completing the work= 12 X Teo

(A + B)'s1 days work= i—ki =z

15 60
The work will be complete in E days.

15
< days

$27. Ans.(b)

Sol.

(2M+4B) x 10 = (4M+5B) X 6
2M =5B

5B=2 x40

].B _ 2x40 _ 16

Reg.ratio=40:16=5:2
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$28. Ans.(a)

Sol.
60

VA N

30 20 10 A+B=5

A B C =}A—|—C=8}=13

a0

Double days work = 5o 4 &
total Days =4 X 2 + 1+§:~ dia}rs

$29. Ans.(a)
Sol.

Marked price =

846Xx100%100
————=1125
4%80

$30. Ans.(c)

Sol.
: : 25 20x25
Successive discount = (2{] + f — wu“

=25%
X X — =120
100
x =160
Required percent=60%

)%

Complete Preparation for
SSC Exams

SSC

EXTREME

Video Courses, Test Series,
eBooks
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